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Codominant Molecular Markers and Dominant Gene Quantitative Traits

LI Xue bin, YU Xiao ling
(1. Animal Science Department, Henan Vocational-technical T eachers College, Xinxiang 453003, China)

Abstract: T he gene/ s effect controlling quantitative traits is greatly noticed by genetic academics for a long
time, especially at the time when Human Genome Project is to be finished. And thus, how to translate DNA
segments to trait is one of important items. In this article, a general analysis model using molecular m arker ma
terial is established for discussing the gene/ s relative effect and the translating from dominant gene/ s DNA seg
ments to quantitative trait. The result shows: by this way, the dominant gené s effect can be estimated by the
coefficient of molecular marker regression equations fitting the orthogonal layout codominant molecular marker
materials under some hypothetical conditions, and thus, a method and theory basis for translating gene code
DNA segments to quantitative trait is presented, and a new method of animal molecular marker assistant selection

is supplied in the same time.
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